
Stock Number: 803/16410

John Lewis

Morgan 2 Door Wardrobe

Thank you for purchasing this Morgan wardrobe. Please read the instructions carefully before use to ensure
safe and satisfactory operation of this product.

For product support or spare parts please call
the John Lewis Helpline;

T: 01244 689949

E: mail@fwgroup-uk.com

PRE-ASSEMBLY PREPARATION
Please ensure instructions are read in full before attempting to assemble this product.

Necessary Tools

Please check the pack contents before attempting to assemble this product. A full checklist of components is
given in this leaflet. If any components are missing, please contact the John Lewis Helpline.

This product is HEAVY. It should be assembled as near as possible to the point of use. TAKE CARE WHEN
LIFTING to avoid personal injury and (or) damage to the product.

This product takes approximately 90 MINUTES to assemble with 2 PEOPLE.

The fittings pack contains SMALL ITEMS which should be KEPT AWAY FROM YOUNG CHILDREN.

Read this leaflet in full before commencing assembly.

If you require any additional information or have any issues with this product please call the
John Lewis Helpline on 01244 689949 or email mail@fwgroup-uk.com

1/20

IMPORTANT! PLEASE KEEP THESE
INSTRUCTIONS FOR FUTURE

REFERENCE



Key diagram

2/20

IMPORTANT! PLEASE KEEP THESE
INSTRUCTIONS FOR FUTURE

REFERENCE

AnhVan
Oval

AnhVan
Rectangle

AnhVan
Rectangle



3/20

1 pc - Allen key - 4mm 16 pcs - Bolt M6 x 30mm 28 pcs - Dowel Ø8 x 30mm

8 pcs - Bolt M6 x 50mm 4 pcs - Screw Ø4 x 40mm 4 pcs - Screw Ø4 x 35mm

2 pcs - Plastic stopper 17 x 45mm 4 pcs - Knob Ø22 x 22mm 1 pc - Nail guide

38 pcs - Nail 1 pc - Joining strip - 1718mm 2 pcs - Hanging rail cup

8 pcs - Screw Ø3.5 x 20mm 30 pcs - Screw Ø4 x 15mm 1 pc - Hanging rail 30 x 864mm

4 pcs - Magnet 6 pcs - Hinge 2 pcs - Strap

4 pcs - Washer 2 pcs - Screw 4 x 25mm

G

A B C

D E F

H I

J K L

M N O

P Q R

S T

IMPORTANT! PLEASE KEEP THESE
INSTRUCTIONS FOR FUTURE

REFERENCE



Parts

4/20

IMPORTANT! PLEASE KEEP THESE
INSTRUCTIONS FOR FUTURE

REFERENCE

AnhVan
Oval

AnhVan
Rectangle

AnhVan
Rectangle

AnhVan
Rectangle



PRE ASSEMBLY PREPARATION

5/20

28pcs 

IMPORTANT! PLEASE KEEP THESE
INSTRUCTIONS FOR FUTURE

REFERENCE

AnhVan
Rectangle

AnhVan
Rectangle

AnhVan
Oval



6

B

B

B

Step 1

D

D

D

D

6

6

6

4

2

x3 pcs
B

x4 pcs
D

6/20

IMPORTANT! PLEASE KEEP THESE
INSTRUCTIONS FOR FUTURE

REFERENCE



B

B

B

Step 2

D

D

D

D

3

4

x3 pcs
B

x4 pcs
D

Please Note:
The rebate in Parts 3 & 4

indicate the rear of the
Wardrobe

7/10

IMPORTANT! PLEASE KEEP THESE
INSTRUCTIONS FOR FUTURE

REFERENCE



Step 3

3

1

4

With assistance,
stand wardrobe upright

x1 pcs

x 2 pcs

Step 4

8/20

IMPORTANT! PLEASE KEEP THESE
INSTRUCTIONS FOR FUTURE

REFERENCE



With assistance,
lay wardrobe

face down
on smooth surface

7

7

J x 38 pcs When finished
please stand

upright

J

Step 5

9/20

K

I

IMPORTANT! PLEASE KEEP THESE
INSTRUCTIONS FOR FUTURE

REFERENCE



10/20

Assemble on smooth surface

x 12 pcs
x 6 pcs

x2

Step 6

Q
N

N
N

N
N

Q

Q

N
N

Q

IMPORTANT! PLEASE KEEP THESE
INSTRUCTIONS FOR FUTURE

REFERENCE



x 12 pcs

Step 7

x 2 pc

11/20

N

N

N

Q

IMPORTANT! PLEASE KEEP THESE
INSTRUCTIONS FOR FUTURE

REFERENCE



Step 8

12/20

M

P

IMPORTANT! PLEASE KEEP THESE
INSTRUCTIONS FOR FUTURE

REFERENCE



Step 9

13/20

IMPORTANT! PLEASE KEEP THESE
INSTRUCTIONS FOR FUTURE

REFERENCE



Please note:
Do not fully tighten bolts        at this point in construction

Step 10

Step 11

14/20

9

10

8

9

8

10

IMPORTANT! PLEASE KEEP THESE
INSTRUCTIONS FOR FUTURE

REFERENCE

AnhVan
Rectangle

AnhVan
Rectangle

AnhVan
Oval

AnhVan
Rectangle

AnhVan
Rectangle

AnhVan
Oval



15/20

N

N

N

12

11

10

9

8

IMPORTANT! PLEASE KEEP THESE
INSTRUCTIONS FOR FUTURE

REFERENCE



16/20

IMPORTANT! PLEASE KEEP THESE
INSTRUCTIONS FOR FUTURE

REFERENCE



x 2 pcs

x 4 pcsS

x 2 pcsR

T

WALL

PLEASE NOTE: Wall fixings are not supplied with
this product as different wall materials require

different types of fixing devices.

You must use fixing devices suitable for 
the type of wall you intend to mount this product to.

The screws supplied are to fix the strap to the wardrobe.

Step 15

17/20

IMPORTANT! PLEASE KEEP THESE
INSTRUCTIONS FOR FUTURE

REFERENCE

WARNING: In order to prevent overturning,
this product must be used with the wall
attachment device provided.



This product is now ready to use.

18/20

IMPORTANT! PLEASE KEEP THESE
INSTRUCTIONS FOR FUTURE

REFERENCE



Wood furniture
 

which can appear on oak furniture is a mark of good quality timber - these are just characteristics of the natural 
beauty of the wood. Some furniture is also deliberately aged and rustic.

by the way the slivers are arranged.

items that have been previously purchased.

How to care for your wood furniture 

time.

sources such as radiators or fires. Be particularly careful with solid wood as the lack of humidity caused by central 
heating can cause damage such as warping.

Care and Maintenance

19/20

IMPORTANT! PLEASE KEEP THESE
INSTRUCTIONS FOR FUTURE

REFERENCE



  avoid personal injury or damage to the furniture. Please be careful to retain all fittings when doing this.

If you require any additional information or have any issues with this product please call the John Lewis 
helpline on 01244 689949 or email mail@fwgroup-uk.com.

 

John Lewis Partnership  171 Victoria Street, London, SW1E 5NN
www.johnlewis.com

Safety Instructions

20/20

IMPORTANT! PLEASE KEEP THESE
INSTRUCTIONS FOR FUTURE

REFERENCE


	1
	2
	3-20 2door robe
	4-14
	15-20 2door robe
	16-20 2door robe
	17-20

